EARAROBEEIERT — 2 N— IBISH —F

20195 7H 198 (&) 7EISHA6H

mﬂﬁ%c 448 SR EEDE T
[AE4£] 17 :200,000" ~ 23%&:46,000 "  33&:20,000H . 437&:14,000H .~ 57 :10,000
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
- e 8. 002 |384| — WEEE (E10)
el g 77 i 5 Ran 1(2_8)7 2-2-2-2 | 38.4 4 (4233; EEnis
L:7VF—v B:RF-U)-X> fisike]
5= s 4 | EERR 1:29.0 1-1-1-1 [39.0| — 1 480 | EEEREEL (S542)
ol7|l7| bX/ XA 54.0 ( 1/2) (-3) |BAAX
L:hE-—X2—F— B:7-—~"F20-2X LA
NN AN . —6-6— - hnEES={R (554R)
N . NEEErE o6 | B 1.(239).6 6-6-6-5 | 38.5 7 zzggs iR (2
RV KYTYRIR B HATHIXTUL ERBYIS
S 5 | EAME 1:29.8 8-7-7-6 |38.7| — 10 | 438 |fRBEIESR (%42)
4 AR EAYA 56.0 A 1/2) () |ENEX g
e/ A L—)0 B:Fza44 X% BEE A
T o4 | BiEE 1:30.0 4-3-4-3 [39.1| — 9 473 | REER— (5H)
5 WY 6 Ev77714 bk 56.0 (3/4) (-6) (=) JPN?;EH
RHITEIR BN— kT AE— K77 —L
S B[IEse :30. -9-9- . = JIUBBAE (554A)
6N 3| *E J—XH > o 56.0 1(;?/%1 10998 | 386 ’ (415) BTER :
L:T7V17143VYF— B:AEY-—FtF e
# o5 | WTHZ 1:30.2 9-9-8-8 [38.5| — | 6 | 478 |/IBEAE (%#Y)
1 > PIEZEY) 56.0 (7E) Lo | 0 Tz hEva
R:o07% B7RI(YV2/— HE ER
. e BERETE : -8-10- — RERIEER (S54R)
al1l1|o71=>zHEy 1 % 5 | B 1.(310).4 7-8-10-10 | 38.7 8 (4_656) i A
x> inA4A— B:T7LTVaRTy b 11— FETHIS
> B4 | KAz 1:30.5 3-3-3-4 [39.9| — 2 47 | RBE (S51)
91810 TYFE A52.0 (1/2) (+4) BETS s
R:Ayaizgr—X B:eAlyzAT BRI EKKE
RS 4 5 | EEEE 1:30.5 5-54-6 | 39.6| — 5 474 | DOEE=AR (S2H2)
10/8]9| 7V~ RHTZ 54.0 (74%) () |BREA
R4 xT v b BT RIAYT1T WE fs
® 1—F—@EBIERL
1T=7r= 7,8,10,6,9,4,1,5,2,3
20—7+— |7,8,(6,10),9,4,5,1,(2,3)
3= —F5— 7,8,10,(6,9),4,5,2,3,1
40 —F— 7,8,6,10,4,(5,9),(2,3),1
[ N5
B 8 1,650 714K 7-8 280M B -7 460/ JEE 4-7-8 1,780
B B 8 180M 4-8 1,910 B = 7-8 470M JEE 8-7-4 33,2004
7 100M 4-7 4909 B H 8-7 3,470H
4 380F9

ABICOVWTRDTEEERROODE. TR LIV,




